Name: Period: Date:
Osmosis: Pradice Poblens

Scenario: Imagine that a single animal cell has been placed in a beaker of a given solution concentration.

Directions:
1. Fill in any missing percentages (water or solute)
2. Draw an arrow to show which way the water would move by osmosis
3. Predict the effect of water movement on the cell (cell shrinks, expands, or stays the same)
4. Identify the type of solution in which the cell is floating (hypertonic; hypotonic; isotonic)

90% H>0 40% H20 75% H20
10% 60% 25%
solute solute solute

85% H,0O 90% H,O 80% H.O
15% solute 10% solute 20% solute
3) Effect: 3) Effect: 3) Effect:
4) Solution type: 4) Solution type: 4) Solution type:

45% H->0 90% H20 50% H.0
55% 10% 50%
solute solute solute

75% H,0 63% H,0 50% H,0
25% solute 37% solute 50% solute
3) Effect: 3) Effect: 3) Effect:
4) Solution type: 4) Solution type: 4) Solution type:

90% H>0 82% H-0 90% H.0
10% 18% 10%
solute solute solute

90% H,O 25% H,O 80% H,O
10% solute 75% solute 20% solute

3) Effect: 3) Effect: 3) Effect:
4) Solution type: 4) Solution type: 4) Solution type:



%H-0 % H-0 75% H->0
10% 40% %
solute solute solute

% H->0O % H,0O 80% H,O
20% solute 30% solute % solute

3) Effect: 3) Effect: 3) Effect:
4) Solution type: 4) Solution type: 4) Solution type:

% H>O 60% H.0O % H-0
43% 40% 10%
solute solute solute

% H,O 80% H>0O % H,0O
60% solute % solute 10% solute

3) Effect: 3) Effect: 3) Effect:
4) Solution type: 4) Solution type: 4) Solution type:

90% H>0
%
solute

80% H-,O % H,O 35% H,0
% solute 20% solute % solute




